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SCHOLARS ACADEMY

[ REASONING ]

1. 3T U & UGl & I TP HeY g1 UR fApen A @

a)
c)

a)
c)

a)

C)

g & U G & o U HaY i fHar T 2
TG & I WGl T BT Uga siforg fored f3g g
Teg T BT G Y Frem frar T g i 98t
e ot Rifga Fifcmi
There is a relationship between the given two
words. A similar relationship exists between one
pair of words from amongst the four options.
Identify the correct pair of words that has a similar
relationship as the given pair of words and mark the
correct choice.
Science: Subject

Badminton: Sports b) Colours: Clothes

Painting: Oil Pastels d) Sheets: Novels

faw g wfteru 3t w9 FA & fore foee g gl @)
TTH ¥ SGaT1 g2

Which two signs should be interchanged to make
the given equation correct?

249 - 180 + 36 X 45 + 15 = 39

+ 3R - +and - b)XGﬁT+Xand+

- 3R X - and X d) + 3R+ +and +

DY: ¥
PO Plants, tree
ﬂ"ﬂé tree, yellow e

ot yellow, white %
frey:

I: Tﬁé tree, White Hﬁ%

1l: $9 plants, YeIIow%

1I: aﬁs‘ Plant, white Hﬁ%

Read the given statements and conclusions
carefully. Assuming that the information given in
the statements is true, even if it appears to be at
variance with commonly known facts, decide which
of the given conclusions logically follow(s) from the
statements.

Statements:

Some Plants are tree

No tree is yellow

All yellow are white

Conclusion:

I: No tree is White

II: Some plants are Yellow

11I: No Plant is white

Had By | SFWRU b) HaId FHY Il SIERUI
PR Only Conclusion | HRAT § Only Conclusion Il
follows follows

Had Ty 111 TR d) PSSR T BT 7
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a)

c)

a)

c)

c)

HRT & Only Conclusion
1 follows

fau M HyHT iR sl # wrFyde vl ag wEa
3¢ 5 oy & & 18 IFe) aw 3, ud & ag
I w9 A J19 9t F g uedia gt e, au a3 &
feu v fasput & @ #1991 FYE T AIfPE FUF
SRIROT HT B

FY: R

PO cars, automatic |

E!ﬁ'&‘automatlc manuaIT-I'(?f%l

Jaft bikes, manual %I

e

None follows

I: P cars, bikes %'I

1l: Hﬁé bike, automatic T-I?’f%l

Read the given statements and conclusions
carefully. Assuming the information given in the
statements is true, even if it appears to be at
variance with commonly known facts, decide which
of the given conclusions logically follow(s) from the
statements.

Statements:

Some cars are automatic

No automatic is manual

All bikes are manual

Conclusions:

I: Some cars are bikes

Il: No bike is automatic

Fad THY | SRRU b) Had FTHY 11 SR
IRAT § Only conclusion | FRAT § Only conclusion Il
follows follows

gt Ay 1 SR d) A SR A S i1 SR
SR FRd & Both HRAT & Neither | nor I

conclusions | and Il follow follows

fer U fecdl d @ I W& F1 T Y &
Fafafaa gaar & uy g ) H vforifia a2
TqHdl

Select the number from the given options that can
replace the questions mark (?) in the following
series:

3, 50, 66, 191, 227, 7, 634

615 b) 570

439 d) 382

<felT 3 891 &1 UR=T <A §T Fel, "a€ W ufd P T
FI gHard it 313, ﬁwﬁﬁmwwﬁa%’
Lisa introduces Hema by saying, "She is the only
daughter of the maternal grandmother of my
husband”. How is Hema related to Lisa?

E‘EFT/HT-'-ﬁ Grandmother b) dgH Sister
AT Mother-in-law d) Hiﬁ Daughter

Y e 9¥ 31 IR RREl & 7 ¥ 79 I B
frafafea & 9 fFa fafy «1 wraar an

Given below are the four dates of a year. On which
of the following dates, the day of a week was
Tuesday?
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SCHOLARS ACADEMY

a) 1 SFAX! 1201 1% January b) 2 SHaRT 1201 2" January

1201 1201
c) 3 SHat 1201 3" January d) 4 SHAX 1201 4™ January
1201 1201

8. PN & TP ghs Bl HISH BT HH ( i 3N i)
3R T TR T TST 53 ST PTT T § (ITPT i)
Frafafea snefadl & axifar w31 39 fawew &1
TG B Sl A $ Gd g¢ U & I99 H09 I
fererar Jaar gt
The sequence of folding a piece of paper (figure i
and ii) and the manner in which the folded paper
has been cut (figure iii) is shown in the following
figures. Select the option that would most closely

resemble the unfolded form of paper.
\Z

TS | 2

(iii)

(i)
% 050 1

(11) (1) ()
a) | b) Il
c) d) Iv

9. fau v fapedi & & 3T Pfd &1 9= BT it
ﬁal%rl%@anj@wﬁwﬁlg(?)ﬁuﬁwIﬁHm
Tl gl

Select the figure from among the given options that
can replace the question mark (?) in the following

series.
O s ele 4 O
O o ? 2 O
W2 Ne) 4 o
| N O O @| O A @ 2 O
s O
@ s O | N @ , O O A
(I) (I1) (I11) (Iv)

a) | b) 1l
c) I d) v

10. f3u U Rovedl § ¥ 99 M@ &1 T S &
?H%I@Hmﬁ%ﬁa%waaﬁwﬁﬂwwﬁwﬁm
|
From the given options select the Venn diagram
that best represents the relationship between the
following classes.
Kennel, Den, Building

(11) (1) (1v)
a) | by i
c) IV dy 1l

11. 39 I8! APy &1 999 &3 & fRw T v} &t arfde
3R 3rfyuf v W SrafRud Har g1

Select the correct option that indicates the
arrangement of the given words in a logical and
meaningful order.
1) Sapphire jubilee
2) Golden jubilee
3) Silver jubilee
4) Ruby jubilee
5) Diamond jubilee
6) Platinum jubilee
a) 3,5621,4 b) 3,4251,6
c) 64,5213 d) 53,2614

12. UM U & IR erT-3e fRUfar g=iie e g1 s
F TE BADI DI 1 T 6 TP WBAITBd fobaT TT g1 39
T HT TG BIFTE SN T&=AT '4' 910 Bad & fquda
TS W EAI
Four different positions of the same dice are shown,
the six faces of which are numbered from 1 to 6.
Select the number that will be on the face opposite
to the one having the number '4'.

PO

a) 2 b) 6
c) 5 d) 3

13. M AR - A, B, C, D, EF G

¥4 g1 9 e afda 98 &1 G 3R H & &g Haa d
HfRT 93 §1 D F 91¢ | Ulad RIF W P4 937 32
Eight people - A, B, C, D, E, F, G and H are sitting at
the corners of an octagonal table and are facing
inwards. E is sitting immediately to the left of B. C is
sitting third to the left of A and is sitting adjacent to
H. More than two people are sitting between B and
F, when counted from the left of B. Only three
people are sitting between G and H. Who is sitting
fifth to the left of D?

a) E b) H

c) C d) B

14. 39 fapeq Mpfa &1 au= Bifore forrd &t 78 snpfar
srafifga 31 (gofa &t srgmfa a8 31)
Select the option figure in which the given figure is
embedded. (Rotation is not allowed)

¥
i v | &

(U] (In (1 avy

a) | b) |l
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SCHOLARS ACADEMY

c)

15.

a)
c)

16.

a)
c)

17.

a)
c)

18.

a)
c)

19.

a)

20.

a)
c)

21.

i d)y Iv

Frafafaa o & uyaas fors (2) F _-_ME )R 39-
ST &R 3TTI?

Which letter will replace the question mark (?) in
the following series?

S,W,Z,B,? LK

D b) F

E d) G

39 fawen &1 997 Sifve & TR 1g @ St e
Faftra 3 o YR geRT ve, ugd ug A wafta B
Select the option that is related to the third term in
the same way as the second term is related to the
first term.

LOUD : SOFT :: FLEXIBLE : ?

Difficult b) Rigid
Ductile d) Elastic
faww ga #9)

Find the odd one out:

JGDA b) CZWT
EBXU d) SPMJ

feu mu griiezur & O s & forw fora @ Y Y
MU H gear ST I1fee?

Which two signs should be interchanged to make
the given equation correct?

369 +9+-6X19-39=116

X 3R - X and - b) + 3R+ +and +

-3R = -and = d) + 3R X = and X

faT U dwfere Tl | |, 3T Weg HT TG B &
f3T T W “curiosity’ ¥ AH&RT BT IUGNT BB AT
AT ST Pl 82

From the given alternative words, select the word
which cannot be formed using the letters of the
given word 'curiosity'?
STORY

CITY

b) TRY
d) CURIOUS

39 fawed ®1 994 Fiforg foraH ug S UeR ddfta
& o 7o fIE T ug uw-gay @ Halta §1

Select the option in which the terms are related in
the same way as the terms given are related to each
other.

456 : 643 : 187
100 : 786 : 345 b) 654:120:189
876:996:178 d) 389:645:256

Th ﬁﬁﬁ HIS HIUT ﬁ, ‘what they feel’ &l '961"' B
U § $IfST fHa1 T B, feel is real' F) '138' & =4
H wifsa fear mar % Gﬁ? 'they like real’ &l '658' P
U | pifsd fFar mr g1 9H $is UW § s
'593' a1 arerai=n & fars am?

In a certain code language, 'what they feel’ is coded
as '961', ‘feel is real’ is coded as '138' and 'they like

a)

c)
22.
a)

c)

23.

a)

c)

24.

a)

25.

c)

26.

a)

c)

27.

a)

real’ is coded as '658'. Which phrase would the code

'593' represent in the same code language?
what is real b) feel like real

d) is they feel
Frafafea sear § qu ug 31a Sifoa

Find the missing term in the following series.
112, 124, 148, 196, 292, 484, ?

868 b) 756

768 d) 656

like what is

gfd BEAUTY, CDBTUX ¥ HWIfid 8, POUND, QNVME

gﬂﬁfﬂa%,wwﬁsskwaﬁmﬁmf‘w
?

If BEAUTY is related to CDBTUX, POUND is related

to QNVME, in the same way, SERVICE is related to?

RFQWHDD b) TDSWJBF
TDSUJBF d) RFQEHBD
fFafafaa snefa § fean Rywr &2

How many number of triangles are there in the
following figure?

42 b) 30
41 d) 37

T [Afda $Ifsa urar # KNIGHT &) 75 & 0 &
Pifsa fHar =T 8, ROOK I 63 F ¥4 #H ifsa
frar Siran 8, o 39 HIST Ut A BISHOP T His
T EM?

In a certain coded language, KNIGHT is coded as 75,
ROOK is coded as 63, then what will be the code for
BISHOP in that coded language?

75 b) 69
63 d)y 73

[ GENERAL AWARENESS ]

3 & ¥ urgait F goen | Fufafaa # ¥ s @
g MTRAeA & T1Y e wlafharsita 82

Which of the following metal is highly reactive with
oxygen as compared to other given metals?

T Gold b) feR Silver
@eT Iron d) @feTH Platinum

fFafafea & @ $9-t fagga Sul $t ewiRe
3oI3 (URIT gfe) 2

Which of the following is the commercial unit of
electric energy?

fdliare eT Kilowatt hour b) S[d Joule
PR Calorie d) dic Y&HS Watt second

Mob. - 01141676717,9312712114
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SCHOLARS ACADEMY

28.

c)

29.

a)

c)

30.

a)

c)

31.

a)
c)

32.

a)
c)

33.

a)

c)

34,

a)

c)

35.

fFafafea & @ @19 a1 ggeAYe e § wea
Ur?

Which of the following Mahajanapadas was
monarchical in nature?

3[HTHT Assaka b) YR Gandhara

T Malla d) IS Vajji

BTd g1 # frg R $U= A 35 AT FRIS BT INR
Yeftevur grie foma @2

Which Indian company has recently achieved a
market capitalization of ¥5 lakh crore?

IR faffes  ITC b) 3SHI UGR Adani Power

Limited
g AP Hero d) TIeR  TASH  HRURYH
3p $fear Solar Energy

MotoCorp
Corporation of India

gfe et fife W eI AT s sa @ €, &t

If net external force on a body is zero then

BT AT I BRN Its b) TUBI @RUT A BT It

velocity will be zero acceleration is zero

BT @ROT LI el 8 d) FHBI O - o BhT lts

Its acceleration is non velocity is non zero

zero

Re sradyfraaadag?

Rink is associated with which sports?

greliaTd Volleyball b) &9 §Id Base ball
313 BIP! Ice hockey d) iR Fencing
It e BTt et FEl R 72

Where is the Rani's Girls Hockey Turf located?
T4t faett New Delhi b) TGS Lucknow
ISR Rae Bareli d) STHJUX Amritsar

YR W $t Fafafea & & oF € srayfai
% ok Wl & 9 R(urd wfewdt & Qv |
Which of the following Schedules of the Indian
Constitution deals with the division of legislative
powers between the Centre and the States?

dt SFgdl Third b) UEHT Sl Fifth
Schedule Schedule
Tradl  SFYE  Seventh d) A YRl Ninth

Schedule

g, FAlecH | AT & I 9 vad Wewid BT
IguTe foh1d g1 faran am
Who inaugurated the world's
platform in Hubballi, Karnataka?

Schedule

longest railway

fAfes TSR Nitin b) =R A4l Narendra Modi

Gadkari

3{f¥Yd =8 Amit Shah d) 29t TH  Droupadi
Murmu

fFafafea & 9 fea amfe 3 anea &1 g
ufaufea fasar

a)

c)

36.

a)

c)

37.

a)

<)

38.

a)

c)

39.

a)

c)

40.

a)

41.

Which among the following scientists proposed the
theory of relativity?

gregT 3R fhd Watson b) 3fcad  3MEWA  Albert

and crick Einstein
T sifda Charles d) i1 8Tee John Dalton
Darwin

%'Eﬁm?rsﬁﬁﬁ»—@m (FIH) T GBIeg $g1 fRud
?

Where is the headquarters of international Hockey
Federation (FIH) located?

@E\Gi, XSS Switzerland b) ¥ Bhutan
Gﬁ@j%‘lm Australia dy o Nepal

HRA SHoll TGI8 F YHRY P R, T+ 3 fra
FU Bt 'IIElcA’ UgA & dgd df BT JURY fram
During the launch of India Energy Week, Prime
Minister launched the uniforms under the
'Unbottled’ initiative of which company?

T Sifod HIURIE b) qdt AR Wpfas T Fm

fafies Indian Qil (ONGC) Qil and Natural
Corporation Limited Gas Corporation (ONGC)
YR US™H  Bharat d) MR 9 wifdreRor
Petroleum (GAIL) Gas Authority of

India (GAIL)

Hege/aas o1 ufaiy Fafafea § @ fFa w®

frfk 7 s 22

The resistance of a conductor does NOT depend on:

qAG & U™ HIC BT b) dAH & HIH ¥ Yaigd

&a%d Area of cross- g T ﬁ?{ﬁ YRT

section of conductor Current flowing through
the conductor

AP P! dals Length of d) TATAD @ a"

the conductor Temperature  of  the
conductor

P FUI 3R YPRI | T S qTalT, difer,
U4 &1 TP Heayul RwI B

Taziya,made in numerous forms and types, is an
important part of the _____celebrations.

H’E’"{":{ Muharram b) SHIcBakrid
3¢-3d-feR Eid-Ul-Fitr ~ d) IFSM Ramzan

fFafafea # 9 fou fAdee & wea awr ot ggafa
HTITTS 1 72

In Which of the following Bill the Consent of Rajya
Sabha is not necessary?

¢ 39T Money Bill b) HEel fadge® Draft Bill

Taute IRy d) gt fadue W AR e
Constitutional ST Every bill will be
Amendment considered

aard ¥ 9el sifew ¥ ey A fRufafaa § @ :4-
/8 HU W 8782

Which of the following is correct about speculative
risk in business?

Mob. - 01141676717,9312712114
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a)

c)

42.

a)

c)

43.

a)

44,

a)
c)

45.

a)

46.

el Sifam ® AH B b) Tl ST | dhad g+ a1
GUIGHT & U9 G Pls 81 7 8 B UG

B GyraT of T @ e |1t 81 Speculative
%I Speculative risks risks involve only the
involve both the possibility of loss or no

possibility of gain, as well loss.

as, the possibility of loss.

M &, IR AT gSa
DI FUEA T AT &
JSTEN €1 The chance of
fire, theft or strike are
examples of speculative

d) H@[?@%AII are correct

risks

WA YR & gyd Rren @ w19 &

Who was the first education minister of
independent India?

I UWIE  Rajendra b) SO @@ 6w
Prasad Jawaharlal Nehru

dl. 3R, 3ESHR B. R d) A HAH 3G Abul
Ambedkar Kalam Azad

Frafafad 4 & 19-91/@ e Sar oew § fRua
/8

Which of the following national parks is/are located
in Assam?

feg-d@ar W SUM b) THEW! I ITH
Dibru-Saikhowa National Namdapha National Park
Park

AT AP I Murlen d) IuGH G All of the

National Park above

fFufafaa § 4 P fea a1 2023 sifer d &
IR &1 RER f&ar mar 82

Which of the following won the Best Picture at 2023
Oscars?

RRR b) TaR® Maverick
TN TadleeR 3ifd e d) Udithe R Elephant
a3 Everything Whisperers

Everywhere All At Once
Palace of lllusions’ T U d@® gRT faf@d e
WIS feara 82

Palace of lllusions is a famous book by which Indian
author?

G{ﬁﬂTéﬂT%Anita Desai b) IS AT Arundati Roy
fem s ol feareRH d) AfgeT fBRE  Rohinton

Chitra Banerjee Mistry
Divakaruni

fFafafae & ¥ e1-a1/2 e o gﬁﬁrcr /82
a) UTUd BT YUYW G5 - ST6R 3R SS1TeH @il

b) WA BT g - 16X 3R Gee aldl

¢) T BT g5 - IR R AR I

Praffad fawed 4 & 9RT:-

Which of the following is correctly matched?

a) First Battle of Panipat - Babur and Ibrahim Lodhi

a)

c)

47.

a)
<)

48.

a)

c)

49.

a)

50.

a)

c)

b) Battle of Khanwa- Babur and Muhammad Lodhi
c) Battle of Chanderi - Babur and Medini Rai
Choose from the following options: -

HAd (a) 3R (c) Only (a) b) HA (c) Only (c)

& ()

@), (b) 3R () T All (@), d) FTH J PIs &I None of
(b) & () these

fafafea & 4 #1978 T & o § @
FHMIAR ARf IR T8l 8 94T HERTY 3R TeRTd Isat
| FIH) WU B WISt aF STl 82

Which of the following river follows a parallel
course to the South of Narmada, flowing through
the states of Maharashtra and Gujarat on its way
into the Gulf of Khambhat?

Tiera’t Godavari b) PRI Kaveri
ATt Tapti d) HEMEl Mahanadi

fFrafafea 4 3 919 9 te RfRufas 3 & ord 52

Which of the following are the functions of an

ecosystem?
ag R Wa@ @ YS b) IR F fqweRw
Detoxification of wastes

Purification of air and
water

et &1 Uve gEwu d) Iwdad Wt Al of the

Nutrient recycling of soil above

gmﬁﬁrcr # & o W T vied e F 3rerrar agr
?

Which of the following River flows besides the
London City?

TR Mare b) IR Thames
SIfelT Darling d) S3fHSH Amazon

I R SUP TR & U GAfea g &1 994
Biforg|

a) B¢ JOI-BURNTG

b) ac—vﬁﬁg T

¢) aiTe

d) fag- smw

Pfuny e 4 g

Select the correctly matched pair of state and its
festival.

a) Chhath Puja-Chhattisgarh

b) Jallikattu - Tamil Nadu

c) Pongal-Kerala

d) Bihu-Assam

Choose from the following options

Fad (a)3MR (b) Only (a) & b) HAA (c) 3R (d) Only (c)
(b) & (d)
FId (a) 3R (c) Only (a) d) PAA (b) 3R (d) Only (b)
& () & (d)

[ QUANTITATIVE APTITUDE ]

Mob. - 01141676717,9312712114
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. GPMER A GRT 39 R 7 & =it 78 gl A
HEAT B 2500 MY 2100 §1 (P GHMGR B A
era?rﬁzsoo 3R 7S A 2464 Grad It| Al X AR ¥
U 30A A UE 9% gPTHER A 3R B gRT <t T
Tea®! Ft Sen ¥ gfawa @ S R, @ X SRy BT
3uTd fpa= g

The number of books sold by shopkeeper A in April
and in May is 2500 and 2100 respectively. While
shopkeeper B sold 2800 books in April and 2464
books in May. If X and Y are the percentage
decrease in the number of books sold by
shopkeeper A and B respectively from April to May,
then what will be the ratio of X and Y?

a) 53 b) 4:1
) 32 d) 4:3

52. TS (2x + 5) 3N (3x - 4), ka® + tx + h & UFETS T,
¥ (h? - 4t)/k Td BT
If (2x + 5) and (3x - 4) are the factors of kx* + tx +
h, then find (h? - 4t)/k.
a) 72 b) 65
) 62 d) 70

53. The bar graph given below represents the revenue of a
firm for 8 years. All the revenue figures have been shown
terms Rs. crores.

ﬁ%ﬁmwwwwﬁ%ﬁuwwﬁ%wm
ufaffRia ®var g1 9 I 3PS RIS IuT $ud
¥ el T e ™ gl
350 340

320
300 280

260 250 240

W s

gEEEEES

—

o
4

Revenue (In Rs. crores)
o (&g saT W)

(=]

2009 2011 2013 2015
Year
In
which year the firm has shown maximum percentage
increase in its revenue with respect to the previous year?

fiod af & dey # frg af & wd 3 oA 35 A

ftrpaw ufererd gf e foars @2
a) 2011 b) 2014
c) 2016 d) All are equal T+t GHH §

54. 210 m 3R 180 m TS aTell &t ¢ HHT: 124 km/hr
3R 92 km/hr B! ITT A TP gOX B SR 9¢ W1 B
gfe 3 F AT T gt 110 m% WA e g A

TS gAY Bl IR B2

Two trains whose length are 210 m and 180 m are
moving towards each other at the speed of 124
km/hr and 92 km/hr respectively. If distance
between trains is 110 m, then in how much time,
these trains will cross each other?

a) 9.22 39S 9.22 seconds  b) 833 &S 8.33 seconds

C) 7.66 YHS 7.66 seconds  d) 7.11 ¥&H$S 7.11 seconds

cos(A-B) = \?3

55. gfe 3R cos(A + B) = 0 €, STl A 3

%anaﬁw%'amAz B ®, dl A 3R B &A1Y
CDS(A-B):E

If 2 , and cos(A + B) = 0, where A and

B are positive acute angles and A 2 B, then the
measures of A and B are:

a) 80° 3R 10°80°and 10°  b) 60° 3R 30° 60° and 30°
) 70° 3R 20°70° and 20°  d) 50° 3R 40° 50° and 40°

56. The given pie-chart shows the runs scored by 5 players in a

match.

feu g urg-aé ve AT H s feenfsal gRieAg e =
feama @

The runs scored by Kohli are how much per cent more than
the runs scored by Sharma?

Pigdlt RIS 7T I AT GRT §1C 7C 341 A fat
wfa=ra e 82

a) 100 b) 50
c) 30 d) 20
57. &= faa mar gus oM 5 AR A SufRua asw!
3R TSfPul B J@ ) =i g1
Directions: The given bar graph shows the number
of boys and girls in 5 seminars

mhumber of boys  mNumber of §ris

w e wft s ARER A gurRm asfoal aﬁ

e fa 82

The average number of girls in all 5 seminars
together is:

a) 242 b) 228
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c)

58.

a)
c)

59.

a)
c)

60.

61.

a)
c)

62.

a)

63.

a)
c)

232 d) 236

I GRT A1 fawdi A, B 3R ¢ ® 9w fia i 56 &1
39 faug D 3R E # HH: 64 3R 73 3@ Wrw frg,
A wft uta fawal & IS gRT UrE siel &1 ofia wd
Fiforgl

Average marks obtained by Ram in three subjects A,
B, and C is 56 marks. He scored 64 and 73 marks
respectively in subjects D and E, then find the
average of marks obtained by him in all the five
subjects.

59 b) 61
63 d) 67

gfE x= 2+V3 &, x(x - 4) BTHMA fHa2 ?

If: x= 2+ V3; then what is the value of x(x - 4)?

0 b) 1
2 d) -1
TP 3P A JS UISY K 3R L THA1Y &% & 51 fire &

WR TP g1 &F & ad A Th Raa & R, 5 B
T 1Y K 3R L, 81.6 fiFe & wR 3, @t & fruma
ERT fora wwg & @reft g S

Pipes K and L attached to a tank, together can fill
the tank in 51 minutes. Due to a leakage in the
bottom of the tank, tank will be filled by K and L
together in 81.6 minutes, then in how much time
will the tank be emptied by leakage?

3 °¢ 16 fFE 3 hours 16 b) 2 ©c 16 BT 2 hours 16

minutes minutes

2 ©c 24 ffFC 2 hours 24 d) 3 °¢ 6 M 3 hours 6

minutes minutes

(x/y) + (y/x) = PAYUT (¢ +y*) = 07, Al P T AF 91d
B |(ST8T (x + y) # 0)

(x/y) + (y/x) = P and (x3 + y3) = 0, then find the
value of P. (Where (x + y) # 0)

0 b) 1

2 d 3

X 3R Y A T aur ® ARt # 15000 U 3R
18000 ¥Ud HT fawr fam z ot 10 wdA & g
22000 ¥U8 & A% | I9F WY IS T 2 U &
q1E 55000 U & T1H | Z HT fgwan fpaan g

X and Y invested Rs.15000 and Rs.18000 in a
partnership in a business. Z also joined them after
10 months with an investment of Rs.22000. What
will be the share of Z in a profit of Rs.55000 after 2
years?

15400 ¥ Rs.15400
16200 T Rs.16200

b) 14400 ¥TY Rs.14400
d) 17000 ¥ Rs.17000

TP 3sec’ Otan’ B + tan® O - sec® 8 P TR @:
The expression 3sec’8tan’® + tan®® - sec®8 is
equal to

-1 b) 2
2 d) 1

64.

a)

c)

65.

a)
c)

66.

c)

67.

a)

68.

a)

c)

69.

a)
c)

tan28° tan40° + tan22° tan40° + tan22° tan28° &I
U 914 Pifog|

Find the value of tan28° tan40° + tan22° tan40° +
tan22° tan28°.

0 b) -1

1 d) V3

APQRYH, 2 Q=90° 3R QR = QP 81 TfE PR = 24 cm,
3OH 3ifpa g & =91 r em B 3R AIYS PQR &
RTd g9 B ISR em B, <t (r + R) T BIRT

In APQR, 2 Q =90°and QR = QP. If PR = 24 cm,
radius of the circle inscribed in it is r cm, and radius
of the circle circumscribing triangle PQR is R cm
then, find (r + R).
12 cm

2472 cm

b) 1242 cm
d) 24cm

S U S $I Hil® (STRIR) FUA9, 23R 5
funfora foar SiTaT 8, o Auwa U 1, 1 3R 3 U
BT 31 39 TWI Y 90 | YR H1 W e g
T TGS T GRM?

When a number is successively divided by 9, 2, and
5, the remainders obtained are 1, 1, and 3
respectively. What is the remainder when the
number is divided by 90?

64 b) 40
53 d) 62

afgda=725b=753MRc=7758 @ a’+b2+c-
ab - bc - ca ®T HM JTd PIT|

If a =725, b =75, and c = 77.5, then find the value
ofa’ + b? + ¢® - ab - bc - ca.

25/4 b) 37/4

75/4 d) 35/2

163 ®T %9 T 1573 30 31 fOva gm0 &
wfazra & 0 A g 30% 81 a¥g &1 A gew
e 32

The cost price of an article is Rs.1573. Loss as a
percentage of selling price is 30%. What is the
selling price of article?
1370 ¥ Rs.1370

1290 YT Rs.1290

b) 1210 ¥UY Rs.1210
d) 1350 ¥ Rs.1350

4:3 & Irgura § Ui ok gt & da (R s
& A1 BY 1120 ml Tt AET BT 5:7 F U § Ui
3R S & A & TP 3= %1 B} 960 mI F AET F
1y foraman sian @, <t sifow frgor & Ua ik At &
a9 &1 3guTd fa=r grm?

1120 ml mixture of petrol and kerosine oil in the
ratio of 4: 3 mixed with 960 ml mixture of petrol
and kerosine oil in the ratio of 5: 7, then what will
the ratio of petrol and kerosine oil in the final
mixture?

1:1 b) 2:3
31 d) 2:1
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70.

a)
c)

71.

a)
c)

72.

a)
c)

73.

a)
c)

74.

c)

75.

a)

c)

Frafafaa sfirerfd o wwdiea st

Simplify the following expression:

42 972,41 2401.2

3 9 3 1 3 3 3
-51 b) -49
-53 d) -45

TS ¥4 $ Yl $I darS 2.8 cm 81 99 ¥ T o
HHA I I 93 NA BT e fban g2

The length of the side of a cube is 2.8 cm. What is
the volume of the largest sphere that can be taken
out of the cube?
11.50 cm’

11.55 cm’

b) 1.15cm’
d) 115cm’

agﬁjﬁrwxvzﬁLX 75° 3R 2V =25°B1AfG 2 W
Z & ale Jafguee o R firad § o

4woz BT HIY J1d ST

In quadrilateral WXYZ, 2 X = 75°, and 2 Y = 25°. If

internal bisectors of £ W and 2 Z meet at O, then

find the measure of 2 WOZ.

30° b) 50°
40° d) 54°
MN &% O 918 Us gd &1 T @ 3R g W PQ TH

a1 39 UPR g fhzMOoP = 48° 3R 2NOQ = 32° I
gfe MQ 3R PN Ts-goR &1 fdg R IR ufasde ovd &,
dt ZNRQ &1 U fohaT1 g2

MN is the diameter of a circle with centre O and PQ
is a chord such that LMOP = 48° and £NOQ = 32°. If
MQ and PN intersect each other at point R, then
what is the value of ZNRQ?

40° b) 30°
50° d) 70°

gz - 25) and (% - 4x - 45) BT HgTH GHYGdP fpaT
?

What is the HCF of (x? - 25) and (x - 4x - 45)?
(x-9) b) (x-5)
(x+5) d) (x+9)

P UH &1 HI [T HI | 1 HeT 20 e &1 994 aar
? Wafe Q U #1f & T A A 30 AT &1 9wy
AT 1 TP 91y P 3R Q 7 Frf TE fram ok 20
fire & 91g Q 7 o1 Bis I s P A9 R HI
RT A | a1 wag amm

P takes 1 hour 20 minutes to finish a task while Q
takes 30 minutes to complete the same task. P and
Q together started the work and after 20 minutes, Q
left. How much time will P alone take to finish the
remaining task?

8(1/3) e 8(1/3) b) 62/3) fAeT  6(2/3)
minutes minutes
72/9 e 7(2/9) d) 55/9) fFe 5(5/9)
minutes minutes

76.

c)

77.

a)
c)

78.

a)
c)

79.

a)

c)

80.

a)
c)

81.

a)
c)

[ ENGLISH ]

Select the sentence which has no spelling errors.

There are other abberrant b) Our group

lacks unity

groups whose fictional amongst oponents.
voices go unexamined.

| went there frequently to d) When the snowstorm
observe their habbits. abated a moment, we

looked again.

Select the most appropriate option to fill in the
blank.

He has tightened budgets and ____ employees in
North America as the app has moved more
operations to Singapore.

live off b) laid down

live on d) laid off

Sentences of a paragraph are given below in
jumbled order. Arrange the sentences in the correct

order to form a meaningful and coherent
paragraph.

A. The host announced my name.

B. The song started and my steps moved

automatically.
C. At the backstage | was nervous and shivering.
D. | entered the stage and turned my back to the
audience.
ABCD

BCDA

b) CADB
d) CBDA

Select the option that expresses the given sentence
in reported speech.

He said, " | might visit her in the hospital if time
permits.”

He said that he may visit
her in the hospital if time
permits.

b) He said that he might
visit her in the hospital if
time permits.

He said he may visit her d)

in the hospital if time

permits.

He says he may visit her
in the hospital if time
permits.

Select the option that can be used as a one-word
substitute for the given group of words.
A group of troops stationed in a fortress or town to

defend it.
Gallantry b) Gallery

Garrison d) Gun point

Select the most appropriate ANTONYM of the given
word.

Impervious
Penetrable b) Hidden
Tolerable d) Gentle
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82.

a)
c)

83.

a)

c)

84.

a)
c)

85.

a)

86.

a)

c)

87.

a)
c)

88.

a)
C)

Select the option that can be used as a one-word
substitute for the given group of words.

To make something difficult to understand
Obfuscate
Abbreviate

b) Ameliorate
d) Alleviate

Select the option that expresses the given sentence
in active voice.
The skit was to be choreographed by him.

He was to choreograph b) He is to choreograph the

the skit. skit.
He should choreograph d) Skit should be
the skit. choreographed by him.

Select the most appropriate synonym of the given
word.

Conceit
Vanity b) Modesty
Shyness d) Direction

Select the most appropriate ANTONYM of the given
word.

Ruefully
Bitterly b) Cognizant
Cogitate d) Blissfully

Select the most appropriate meaning of the given
idiom.

Be saved by the bell

Score at the last moment b) Use the bell as a shield
of a game

Narrowly escape
troublesome situation

a d) Help someone in solving
their problem

(87 - 91)Directions [Set of 5 Questions]: In the
following passage, some words have been deleted.
Read the passage carefully and select the most
appropriate option to fill in each blank.

Most people notice a distinctive _ (A)__ in the air
after it rains. It's frequently linked with spring, as
the smell of fresh-cut grass is associated _ (B)__
summer. You'll find it in a lot of poetry and also on
many inspirational lists of things to be happy about.
One of the more _ (C)__ rain smells, the one we
often notice in the deep _ (D)_, is caused by
bacteria. Actinomycetes, a type of filamentous
bacteria, grow in soil when conditions are _ (E)__
and warm.

Select the most appropriate option to fill in the

blank A.
fragrance b) visual

nose d) noise

Select the most appropriate option to fill in the
blank B.

to b) with
by d) of

89.

c)

90.

a)

c)

91.

a)

c)

92.

a)

c)

93.

<)
94.

a)

95.

a)

c)

96.

a)
c)

97.

a)

Select the most appropriate option to fill in the

blank C.
vexatious b) amiable

savour d) pleasant

Select the most appropriate option to fill in the

blank D.
garden b) logs

woods d) backyard

Select the most appropriate option to fill in the
blank E.

dry b) rigid
crisp d) damp

Select the most appropriate synonym of the given
word.

Demolish
Create b) Fabricate
Ruin d) Shape

In the following question, a statement has been
given with highlighted text. Select the option that
can replace the text with correct idiom or phrase.

I accidently revealed a secret about their wedding
plans.

Cost an arm and a leg b) Speak of the devil

Let the cat out of the bag d) See eye to eye

Select the INCORRECTLY spelt word.

humorous b) memento

plagiarize d) greatful

Select the option that will improve the underlined
part of the given sentence. In case no improvement
is needed, select 'No improvement required'.

Her behaviour with all her colleagues is so pleasing
that everyone come forward for helping her.

came towards him for b) comes towards him for

help help
comes forward to help d) No improvement
her required

Select the option that can be used as a one-word
substitute for the given group of words.

A person recovering from an illness or medical
treatment

Cynosure b) Crusade

Convalescent d) Almanac

Select the option that contains a grammatical error
in the underlined portion.

The dogs likes their new toy, which was bought by
one of the cousins of the owner in Delhi.

Thedogs likes their new b) The dogs likes their
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toy, which was bought by
one of the cousinsof the
owner in Delhi.

newtoy, which was
boughtby one of the
cousins of the owner in

Delhi.
c) The dogs likes their new d) Thedogs likes their
toy, which was boughtby newtoy, which was

one of the cousinsof the
owner in Delhi.

bought by one of the
cousins of the owner in

Delhi.

98. Select the option that will improve the underlined
part of the given sentence. In case no improvement
is needed, select 'No improvement required’.

The special forces broke down the house of the
opposition minister and discovered a huge amount

of unaccounted money and weapons.

b) broke off

d) No
required

a) broke into

c) broke through improvement

99. The following sentence has been split into four
segments. Identify the segment that contains a
grammatical error.

Pankaj was overwhelmed / with joy when / he
remembering / his early life.

a) with joy when b) he remembering

c) Pankaj was overwhelmed d) his early life

100. The following sentence has been split into three

segments. Ildentify the segment that contains a

grammatical error. If the sentence is error free,

mark 'No error' as your answer.

The official details will / be released as soon the /

ministry gives the approval.

a) ministry
approval

gives the b) be released as soon the

c) The official details will d) No error
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